Chapter 6 & 7
Probability Distribution II

AG e AT 25

o
il

ofN

Objectives

N
o
e
al

o O|ALEE E ¥ (Discrete Random Variables): & = 9+ §&5WHSF

o A& 3 EE ¥ (Continuous Random Variables): Al = gl A9 F

" oJNIFEW
o BXJUEH

= 7]t A] (Expected Value), -4+ (Variance), 3£ 3 %} (Standard Deviation)
o o ZFEE ¥ (Bivariate Distribution)

e 9| &E ¥ (Binomial Distribution)$} ¥0}% ¥ ¥ (Poisson Distribution)




Objectives (2)

S/ F QoBZ ol 39 # TS FEL20

- 3}& U =347 (Probability Density Function)<] T %]
A 1F+&E S (Standard Normal Distribution)

- A EEEERY ALE
A 4=4-3E (Exponential Distribution)
Student-t X

F}ol Al 5-& 3£ (Chi-squared Distribution)

|. Binomial Probability Distribution




Binomial Experiment

B HEF

o IE

o] A1 3} (Bernoulli trial)
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Binomial Random Variable
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Calculation of Probability
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P(x)= mp ‘(I-p)

e 1A Appendix BEZ

Expected Value & Variance

B o[FEERT V| BT

e X~Bn,p¥d,

e E(X)=np, V(X)=np(1-p)

o @) AN £ 5EA BAE EOFIL Y, BT B2 A4l 2|tz w2k
PR

e X~B(n,p)¥d o,

e BINOMDIST(x,n,p,false): ©| & &I & 7t
e BINOMDIST(x,n,p,true): o| F&E W52 3 & 3t




Expected Value & Variance

B oA 6.9: 1054 5K AT+ EA A Age AFE x2a 34,

e n=10 & P(success) =1/5=.20

PO) —— (2= 2"
S 01(10-0)! '
~1(1)(.8)" = .1074

10!
PQ2) =—— (2)*(1=2)"?
(2) 2!(10_2)!( ) ( )

= 45(.04)(.1678) = 3020

Fix=3) |=binomdi8t(3,1D,D.E,false}

number_s, trials, probability_s, cumulative

Expected Value & Variance

" FHILERE

e P(X<4)=P(0) +P@1) +P(2)+P(3) +P4)

P(x=3) 0,201327

Px<=3) |=E‘:-INOMD|51T(3,10,0,2,true[}

[ BINOMODI=T{nurnber_s. trials. probability_s., cumulative] |




Exercise
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Binomial Table

n=10
k 001 005 01 025 03 04 05 06 07 075 08 09 09 09
).0563  0.0282 0.0060 0.0010 0.000L 0.0000 0.0000 0.0000 0.0000 0.0000 0.0000
1 0997 09139 0.73 ).2440 0.1493 0.0464 0.0107 00017 0.0001 0.0000 0.0000 0.0000 0.0000 0.0000
2 0.9999 0.9885 (.92 D.5256 03828 0.1673 0.0547 00123 0.0016 0.0004 0.0001 0.0000 0.0000 0.0000
3 1.0000 0.9990 0.98 D.7759  0.6496 03823 01719 00548 0.0106 0.0035 0.0009 0.0000 0.0000 0.0000
4 1.0000 0.9999 0.99 0.0219 08497 0.6331 03770 0.1662 0.0473 0.0197 0.0064 0.0001 0.0000 0.0000
5 1.0000 1.0000 0.99 D.9803 0.9527 0.8338 06230 03669 0.1503 0.0781 0.0328 0.0016 0.0001 0.0000
b 1.0000 1.0000 1.00 D.0065 09894 0.9452 0.8281 06177 03504 0.2241 01209 0.0128 0.0010 0.0000
7 1,0000 1.0000 1.00 D.0006 09984 0.9877 09453 0.8327 06172 04744 03222 00702 0.0115 0.0001
8 1.0000 1.0000 1.00 1.0000 09999 09983 0.9893 09536 08507 0.7560 0.6242 0.2639 0.0861 0.0043
9 1.0000 1.0000 1.00 [.0000 1.0000 09999 0.9990 09940 09718 09437 0.8926 0.6513 0.4013 0.0956
P(X =2)=P(X<2) - P(X<1) = .6778 — .3758 = .3020
P(X=k)=P(X<k)-P(X<[k-1])
P(X>k)=1-P(X<[k-1])
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Poisson Distribution
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Poisson Distribution

B Yol B¥

LM X

P(x)=¢ t’!" for x=0, 1, 2,...

where u 1s the mean number of successes in the interval

E(X)=V(X)=pu

POISSON ¥ R |;|| =POISSON(5,6,TRUE)
POISS0ON
X 5 = 5 —
= Flx=3) | émsson(S 5, false)
Mean ¢ = 6
comutotive (o & - e >< mean. cumulative] |
= 0.445679641

Returns the Poisson distribution.

Cumulative is a logical value: for the cumulative Poisson probability, use

TRUE; for the Poisson probability mass function, use FALSE.

E Formula result = 0.445679641 ._" Cancel ) %
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ll. Continuous Probability Distributions
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sith. : P(X=5)=0
o f(x): FEUETS f(x)>=0, a9t bAFo| 2] T7Fe] HF &)L dAt 19,

f(x)

area=1
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Uniform Distribution

B UYE X (uniform distribution)

. Where asx<b

f(x)=
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area = width X height = (b — a) X ﬁ —1
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Uniform Distribution
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2,000 5 ,000 X
o %)% 4000 AE9] 7}&9 :% w5
f(x
N
3,000
2 ,000 5 OOO X

o 83| 2500 A /&R S AT FELS

17




lll. Normal Probability Distribution
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Introduction
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Two Parameters
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Standardization

o 7

m A

X ~N(u,0%)

7277 0.

O
XA 5 ¥ (standard normal distribution)

Ht=0; xFHA} =1

e X ~N(1000,100)

* P(X <1,100) =P

X -p _1100-1000
o 100

= P(Z <1.00)
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Standardization

. EZ = o =3 o 0.01 0.0z 0.03 0.04 0.05 0.06 0.7 0.08 0.09
Iﬂ"’}@ 2 O H L1} 0 0.004 0.008 n.01z 0.016 0.0199 0.0239 0.0279 0.0319 0.0359
0.1 00395 0.04355 0.0475 0.0517 0.0557 0.0596 0.06836 0.0675 0.0714 0.0753

0.z 0.0793 008352 0.0871 0.091 0.0943 00987 0.1026 0.1064 0.1103 01141

qu__'z] 17“-‘2] Tablel':l'_]: %_8_ 0.3 0.1179 01217 0.1255% 0.1293 0.1331 01368 0.1406 01443 0,148 01517
0.4 0.1554 0.1591 0.1625 0.1664 0.17 01736 01772 0.1305 0.1544 0.1579

° E%;ﬁ _‘ﬁL_‘_’]i_E }.il_ 0.5 0.1915 0.195 0.1985 0.z019 0.2054 0.2055 0.2123 0.2157 0.z19 0.2224
0.6 02257 02291 0.2324 0.2357 0.2389 02422 0.2454 02456 0.2517 0.2549

o7 0255 02611 0.2642 0.2673 0.2704 02734 02764 0.2794 0.2623 0.2852

b Page 286 0.8 0.2581 0,291 0.2939 0.2967 0.2995 0.3023 0.3051 0.3075 0.3106 0.3133
0.9 0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 03315 0,334 0.3365 0.3389

[ ] Table 7.1 1 0.3413 0.3435 03461 0.3485 0.3505 03531 0.3554 0.3577 0.3599 0.3621
1.1 0.3643 0.3665 10,3686 0.3703 0.3729 0.3749 0.377 0.379 0,351 0,353

1.2 03549 0.3569 0. 3555 0.3907 0.3925 03944 0,396z 0,395 0.3997 0.4015

1.3 04032 0.4049 0.4066 04052 0.4099 0.4115 04131 0.4147 0.4162 0.4177

1.4 0.4192 04207 0.4222 0.4236 0.4251 04265 0.4279 0.4292 0.4306 0.4319

1.5 04332 0.4345 0.4357 0.437 0.4382 0.4394 0.4406 04415 0.4429 0.4441

1.6 04452 0.4463 0.4474 0.4454 00,4495 0.4505 0.4515 0.4525 0.4535 0.4545

1.7 0.4554 0.4564 0,4573 0.4552 0.4591 0.4599 0.4605 0.4616 0.4625 0.4633

1.8 0.4641 0.4649 0,4656 0.4664 0.4671 0.4675 0.4656 0.4693 0.4693 0.4706

1.9 0.4713 0.4719 0.47260 0.4732 0.47355 04744 0,475 04756 0.4761 0.4767

2z 0.4772 0.4775 0.4753 0.47G5 0.4793 04795 0.4503 0.4505 0.4G612 0.4617

2.1 04521 04526 0.433 0.4834 0.4838 04842 0.4346 0,485 0.4554 0.4857

2.2 04361 04364 0.4365 0.45871 0.4875 04575 04351 04554 0.4557 0,489

23 0.4593 0.4596 0.4595 0.4901 0.4904 0.4906 0.4909 04911 0.4913 0.4916

2.4 0.4915 0,492 0.4922 0.4925 0.4927 0.4929 0.4931 0,493z 0.4934 0.4936

2.5 04933 0.494 0,4941 0.4943 0.4945 0.4946 0.4945 0.4949 0.4951 0.4952
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Exercise

m Ao &g

e X~ N(mu, sigma”2)

e NORMDIST (x, mu, sigma, true): 3735

o A oA, P(45< X < 60)?

R

= =normdist(60, 50, 10, true)-normdist(45,50,10,true)
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e Table vs. Norminv(prob, mean, stdev)
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Binomial vs. Normal

B O|FEXE vs. ATTEE

o O|FEEXEHEEFEH

AFEEE 83

e X ~B(n, p): n°] AXH X~N(np, np(1-p))
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Student t Distribution
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o IFTAHATTEEY o}F FAR FE o FEZXE

* vl —(v+1)/2
= v: A% (degree of freedom)o] ™ 21T} & f(1) = I(v+1)/2] [ }
- tHEEO] T =0, Bk =v/(v-2) Nval'(vi2)| v

= v (nu): A= & (degree of freedom)
= I' (Gamma function): I'(k)=(k-1)(k-2)...(2)(1)

Student ¢

Student ¢ with »=10
with »=30 Student ¢
with =2

£
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Student t Distribution

B Determining Student ¢t Values

e P(t>t,,)=A 4

° 100/0, 0/0,250/0, 0/0 1/2%0il Ci Sot= L AH Xl 26t D|

ta
ea under the curve value (t,) : COLUMN
DEGREES OF /

FREEDOM 1.1m tnsn t.m f_g.“, t.ms
tm 1 3.078 6.314 12.706 31.821 63.657
° 9 2 1.886 2.920 4.303 6.965 9.925

3 1.638 2.353 3.182 4.541 5.841
05 10 1 812 4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.8 2.262 2.821 3.250
Degrees of Freedom : ROW-> 10 —{sme>(is12 ) 2228 2768 369
11 1.363 1.796 2.201 2.718 3.106
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Exercise

B oA X~t(5)

o P(X>1.476)=?
= ()NAe] 28 tdist (1.476, 5, 1)
- QFgExRY

5]
af f.100 £.050 f.02s toto toos
1 30/8 5314 12706 31821 63 65/
2 1.886 2.920 4303 6.965 9.925
3 1.638 2.353 3.182 4 541 5.841
4 1.533 2132 2776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707
7 1.415 1.895 2.365 2.998 3.499
s 1,397 1.860 2.306 2.396 3.355
9 1.383 1.833 2.262 2.821 3.250
10 1.372 1.812 2.228 2.764 3.169
11 1.363 1.796 2201 2.718 3.106
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1.771 2.160 2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2131 2.602 2.947
16 1.337 1.746 2.120 2.583 2921
17 1333 1740 2110 2 567 2 808
28
Exponential Distribution
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Exponential Distribution

B AFEYE nEE g8 A5 ddd $E534

m o A) L7HERR) s E e A =.05% AFEEXE IE.

P(X>x)=e™
P(X<x)=l-¢™

P(x;<X<x)=PX<x)-P(X<x)=e™ —e’

B3 EEHAR?
vl E] 2] 9] =75 o] 10A) 7t} 15| 3t Alo] Y 882
g o] 30417t o] Y FE?

Excel &<: expondist(x, lambda, true)
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